032 825(CA)

2022
qmie faem
( Hindi and English Versions )
qF : g s fame ) [ QUi : 70
AT AR % 15 e Wi @ vve vl
forg fuifea € |
Note: First 15 minutes are allotted for the
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Instructions :

i)

i)

iii)

54943

This question paper is divided into two
Parts A & B. Attempt all the questions
of each part together at one place. Each
part should be attempted on a new
page.

Marks allotted for each question are
mentioned against it.

This question paper contains four types
of questions — Multiple-choice type,
Very Short Answer type, Short Answer
type and Long Answer type. Instructions
have been given at the beginning of
each type of question.
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3
5. JifeET =1 aeTE e ge o ?

v} Attach firmly the suppliecd maps for <
Parts - A & B to your answer-book. %) 1814 @) 1815
N o . N M) 1816 ¥) 1817. 1
v} ‘For vision-impaired examinces S
_ , . 2. When was Napoleon defeated *
Question No. 14 in Part-A and Question 1814 b) 1815
No. 28 in Part-B have been given 21] 1816 d 1817 1
, 4 in lieu of '
:gariig for writing answers in lieu o 3. AR F TR e e 3w g3 ?
P . %) give . g) 3w
us - § M W ¥) ®4g| 1
PART - A 3. Which country is first to start
( wgfaedta uv ) nationalism ?
( Multiple Choice Type Questions ) a) England b} America
ew frfefea foseat § @ W I I c) France d) Russia. 1
10 IeR-fereT | ferfia - 4, 3Tk TR T YRR HE ¥ g3 ?
Instruction : Choose the correct answer from the %) 1928 ) 1929
given alternatives and write in your T) 1930 ¥) 1932, 1
. answer~-laook : 4. Economic great depression was started
1. AT & T § gE i feaet o 0 in
a} 1928 b) 1929
&
) S TRERE @) i ¢ 1930 d) 1932. 1
M 3R d foes w)  fafea v ] 5. frefefas F @ s=-ar 9y ga@t & T § 2
1. g:’hose role was major in the unification of %) &l ) ?‘ﬁ
er ?
) Giuseppe Garibald D B 1
e : L. .
O ppe Laaribalds 5. Which onc of following is a subject of the
) apoleon + union list ?
c) Otto von Bismarck a) Defence b) Agriculture
d) William I, 1 ¢} Trade d) Education. 1

54943 e0G [ Turn over 54943 o0G



5 825(CA)
6. dfcemm & Wl wwen G by @@
fras T g9 ¢ A@RRW 8 2
%) fafes amifss 0@ & 3
F) IEA F AR M F ma

T % R T R & ™

) UG WEHR AR aEEs WER & T |

6. Under which of the following i1s power

shared in the Community Government of
Belgium ?

a) Different social groups

b} Different organs of government
¢} Central and state governments

d) State pgovernment and community
government. 1

( fr &g I W )
( Very Short Answer Type Questions )
7. v A A @SR @ e e
3SIRA e & 2 9 SR "y 1+ 1
7. How has technology stimulated the
globalisation process ? Write two causes,
. - 1 ' 1
8. ;@:mewqﬂrhﬁ% ? fol ot o I
I

1+1

8. What are the  challenges against
democracy ? Mention any two. 1+1

:. 54943 0 0G [ Turn over
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9.

10.

10.

11.

6

wﬁWﬁﬁﬁmwﬁfmaﬁTW%?

&His al L] FdAIZG, 1+1
r | |
Wh\"iS transparcnr:y esse:ltiai i1 democratic
oov ? i n +

(8] -{'_?I'Hmﬂﬂt ? Write any {10 Ccauscs. 1 1
f=J

( o IO 9 )

( Short Answer Type Questions ) )
St v & SR FAREE aregnEdr g

= = = rL - |
" 1+1+1

et

wg @ owiET e g 2 T g I
=7 ol ? 13+ 13
Explain three types of movement oOr ﬂ?ws
indentified by the international economists

in the nineteenth century. 1+1+1
OR
When was French Revolution held ? What
1, 91
was its main cause ? 15+ 13
e el A e & e FIFAT |
1+1+1
HYdl
e FE 2 T U e nem:sn'-f-e;m?a1
T | 13+ 13

54943 e6G
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11:- Mention any three

advantagcs of
democracy.

1 +1+1
OR
What is federalism ? Write its main
characteristics. 13+ 13
( i ot Wy )

( Long Answer Type Questions )
12. 1930 ¥ HeW™H! 7€t 3 99 6 AT A=RET FH

YR T ST 2 T9 IO 1 1 T Y 2

3+3
HYdr
© TR T ERT 9o TN SR et S 94
Y § 2 THF BRI ST A 3+3
12. Why did Mahatma Gandhi make salt as
basis of his movement in 1930 ? What was
the effect of this movement ? 3+3
OR
What is the meaning of the Non-
Cooperation  Movement launched by
Mahatma Gandhi ? What were its causes ?

E 3+3

18. NG # % R T ¥ 99w F Sean =)

6=t o faetvenatl w1 ool e 2+ 40
exar

SHAIF W Faen § A swaea
Fedl & 2 |
54943
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13. Describe any three characteristics of
- distribution of power .between the Centre

and the States in India. 2+2+2
OR
Whv does economic inequality increase in
den;ocratic government ? 6
( WAl Tt W )
( Map Work )

frder : Creifga @A @ WRa % A W W@
ot § @ foet g A Al e W
a1 o T sl % R 3, § 3i PR €

Instruction : In the given outline map of India
locate the following places by the
symbol ® with names. For correct

mention of name and location
1 I marks have been allotted.

14, i) O ©F W 1027 W ®UE @1 HETH 1
gaT| | 2tz

ii) a7 ©IF et @ 1030 § Here i 4 Wi
T SR | j+3

i) %wmﬁaﬁaﬁmﬁmaﬁ;é

54943 8G
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° 1 825(CA) Instruction : Write the answers of the following
W) W R gemE smees gem questions in your answer-book.

an 141 Do not use map.
3
- = i 1
V) T® W S 1929 ° S W afdee 14, i) 1927 H HAG 1 ARGEwH HEl AT oA
URER-Sl 3+ 3 ii) 1930ﬁqgﬁmrﬁ%ﬁfr1qﬁ=lﬂaaaﬂ13“§“”
14. i) The place where the Indian National e T ? 1
Congress session was held in 1927, ' .
11 ' iii) S e e Tem we g gt 2 1
3t 3 <
i} The place from where Mahatma Gandhj iv) FFEM  wEmE  STieH ®E W
launched his Civil Disobedience ™ 2 1
Movement in 1930. 3+ 3 o =
_ ‘e v) 19201 ST F sREATA FE g A 2 1
1) The place where Jallianwala Bagh . :
incident took place. 1+3 14. i) Where was the session of Indian
_ _ _ 5
iv) The place where Farmer's S atyagraha - National Congress held in 1927 ¢ 1
movement was launched. $+3 iij From where did Mahatma Gandhi
v} The place where Congress session was ] launch his Civil Disobedience
held in 1929. 141 Movement in 1930 ? | 1
(mmqﬂﬂﬁﬂﬁ%fﬁﬁ iii) Where did Jallianwala Bagh incident
take place ? 1
T w1 ¥ fawew % wq ¥ ) '
Onlv f isuallv.i ] . iv) Where was the Farmer's Satyagraha
( Only for visually-impaired examinees in movement launched ? A
lieu of Map work ) ,
~ B e & . - v) Where was the session of Congress
W2 T S IR Sw-gian 7 e held in 1929 ? 1
AFeS 1 HEFT T Sl |
54943 000G [ Tuiin over
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7. Boalafgr W A fa) afws e swlg figd 1)
g ug - ™ 1‘}""{'}!‘?
PART - B HBIRCHR LU
W) W)
( gl 7 ) M wRERE w gl A i 1
({ Multiple Choice Type Questions ) 17. Which of the following is found m greater
gt :  Frfoife foeedl O @ @8 IO 99 3T quantity in alluvial soil ?
Hﬁ*_"‘ﬂ T a) Potash b) Lime
Inst t.ET—R Ch i i ' ¢ c th ¢) Phosphorus d} All of these. 1
nstruction : oosc the correct answer Iorm € a ‘q‘_ y
following options and write in your 18. X I Eﬁ:ﬁil ’
answer book. %) ?tﬁﬂ Q)
15, fre @ i R AR A W e 2 ™ SR W R :
. o 18. Anthracite is related to which mineral ?
H) @) ERA a) Copper b) Gold
MW IR ) IEUS| 1 ¢) Bauxite d) Coal. 1
15. In which of the following states is terraced 19.. 9Rd # foa wiavre & g il ¥ W
cultivation practised ? W F4 € ?
a) Punjab b) Haryana ) 60% @) 65%
c) Gujarat d) Uttarakhand. 1 M 85% g) 90 %. 1
6. B f'r & P o 8 ¥ 9 19. What percentage of people get loan from
. hEd € ¢ informal sources ?
%) wuies e ©@) TEoees g a) 60% b) 65%
M) gAlEes gFe H)  wqus e 1 ) 85%- d) 90 %. 1
16. Which one of ‘the following is called 20. fore SR FEA 1 AT wel e € 2
Agriculture sector ? %) Wﬁ @) dmA _
a) Primary sector M S u) e 71 1
b) Secondary sector 20. The  headquarters of World Trade
o) Tertiary sector Organisation is located at
d) Quaternary sector. 1 a) New York b) Paris
c) Geneva d) Ottawa. 1
Turn over
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21.
21.

22.
22.

23.
23.

24.

24.

25.

13 828(CA)
( Afy =g swdta vy )
{ Very Short Answer Type Questions )

3 e sy ) 2
What is land degradation ? 2
TS 3 W AR ) 2
What is meant by mineral fucl ? 2
‘UL IR T E 2 2
What is 'Consumer International' ? 2
( ¥g WG 0¥ )
( Short Answer Type Questions )
WRAE F B q Reant fafan
1+1+1
AT
TS i Q= T & 2 3
Wri‘te any three features of Indian
agriculture. 1+1+1
OR
What do you mean by commercial

agriculture ?

-

TR H i S W e et & = d
F0T fafaw |

1+1+1

gy
fasg zuR Wew @ aw T TR E o 3
54943 090G
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25. Give any three reasons for increz}sing the
importance of tertiary sector in India.
' 1+1+1
OR
What do you understand by World Trade
Organisation ? 3
( e 30T W )

26.

26.

27.

27.

( Long Answer Type Questions ) _
U GO & 0§ P % Hee W W Sherd |
6
:
ara # T 9 Al g & S d TR A
faeramn wifg | 6

Focus light on the importance of scil as a
resource. 6

OR

Discuss any three types of soil found in
India. https://'www.upboardonline.com - 6

IR & Hofad o1 srimfea &6 # afR St |
- 6

Frear
T fmﬁww% ? T el /e o
T GO i |

3+3

Differentiate  between organised and

unorganised scctors of employment. 6
OR

What do you understand by foreign trade ?
Describe any three benefits of it. 3+3

54943 00G
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( wAfas = )
( Map Work )
g ™ wwa & wete & Fretetes @
SV :

Instruction : Show the following on the given

28. i)

28. i)

map of India.
A |y O faed g 90 |’ 141

WIE TR Dl BIE T @H A Foes grr 9m
afed |

1 b ]

3+3

G S & BE U & O fae g AW

fed | 1+3

Tergr W fae gwr Am afemn 141

TREM @ Tae §RT AW Hied ) 1+
Salal dam with name and symbol ]

b+
Any one iron ore mine with name and
symbol A. 3tz
Any one field of thermal energy with
name and symbol Q, 1+13
Mahanadi river with name and
symbol \. 1+d
Paradwip with name and symbol @.
3413
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( Fae gheafua qdenfaal &
Aty & & faser & w0 )

( Only for vision-impaired examinees in

lieu of map work )

iy : Fefofaa vl & SR 9T SR-yRasw o

foiEw | gt 1 Y& 7 S

Instruction : Write answers of the following

28. i)
ii)

iii)

28. i)
ii)
iii)
iv)
v)

questions in your answer-book. Do
not use the map.

T sy foFg S W § 2 1
liE 3T & Thdl U @H & 910 f@iEn | 1
amE Fi & f6w T e @1 A fafan 1

T e e A R e 2
UREY fFE o ufag & 2 1
On which river is the Salal dam
located ? 1
Name any one iron ore mine, 1

Name any one centre of tﬁermal
energy. 1

In which ocean does Mahanadi fall ? 1
Why is Paradwip famous for ? 1
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